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1. AN, SFER (BA: mm)

= RH 1 2 3 4 5 T
WEDw | 2) 9 32.90 33.00 3>.98 33,00 72 .18
SMED | 34 g0 2478 24,78 3.9 2490 | 3479

2. FIRBEGERUBHIFEHRRH K:
A RAARD B AR NVIIRERE Vo- 2 170 mV, REEXREIN— LR 500mg, CGZARMHERL
A& B K hr i, AEXTRZEDN 0.05%)

mRE | mEEs |wEwmy | p Ty
10K g V'(mV) V"(mV) ’

0 271 2170 21708
500.00 2. by 251 2SS
1000.00 2 3045 3143
1500.00 | 2. 430 3.630 3.b30
2000.00 4115 q4.113 dargs
2500.00 | 4 pok 4. bob 4. bo
3000.00 | §.093 §.0%s S0%y
3500.00 | ¥ §79 €79 $.579
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®1 ZRTREKNRENESR

KR (iR _obb °C, HTFRAIIAES Vo- 0,008 mV
— r Jit B B KR 4K BEINEE- R K FI3S P (mV)
Vi(mV) V2(mV) V=V1-V>
1 2.b3Y 2131 1,503
2 NP 129 IRSE!
3 3 639 2132 1507
4 2. bu1 2.3 1.S16
5 3.65¢ 2.130 l.§>5
FI1E V= 1[.512¢
2 FRBRETFTREKRDREMESR
Kig_ 31b °C, HLFFAIIRIES Vo 0.000 mV
—— ol it P i KT # GFEANE i RIE7K /7% N B F(mV)
Vi (mV) V2(mV) V=Vi-V>
1 7.629 2.129 .00
2 3. 50y 2-127 I 417
3 3.559 2109 /. 43)
4 5. b317 2134 /.50
i $.b5b - /.527
T V=475
HUm }@kz

TR




K HIEE I IRE oA RIE T KGR

=. BUBAE
1 IR SR FKRm K R 5 AR E .
L=7(D,+Dy)

A4 T SBBIRAN, L= (D, +D ) = n(32.968 + 34.796) = 212.887 mm,

K-V  1.00577x1072 N/mV x1.5128 mV _
= /m MV — 7147 x 1072 N/m.

Wa= T 212.887x10~3 m
BT 240 K 2l B2 2=k 8, rE A
mg lémg
K =<5 7 =38 7
ZissVidisa Vi Yy_sVi— X, Vi
16

14

piol K A () = (&) + (). &5 500me BERSHE N 0.025mg, BT

/NI 0.001mV,
0.001 2 /0025 2
AK\?  (AVNE O Am\? ([ 5 mV % m i
) -6+ - () (s = a0
16
N . av2 s
T AR o (5) B0 Ht S

0.001 2
(A—V)Z _(E ™) L 1.4565 x 1077
% 15128 mV

20 73 FE e bn R REER R ZE N 0.05mm,  FTLA

AL\2 005 im 2
<_) = | ~18148x10~7
L D,+D,

-(A“)Z-(AK)Z(AV)Z(AL)Z-ngxw-a
“"\Na/) \K 1% L)

AEEAa = Vaz - 1.7323 X 1076 = 9.407 X 1075 N/m

M &R K /1 RN a = @ + Aa = (7.147 + 0.0094) X 1072 N/m, BEMEP =

68.3%.
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AT 53 M7
MR 25°CF, KBRETK IR o WAIMEANT.197 X 1072 N/m, 5L

56 A== 26.6°C NS IR K 71 RECNa = 7.147 x 1072 N/m, SUHAHREZE A

5= |7.147 x 1072 — 7.197 x 1072|
N 7.197 x 102

W TR T R, KRR ) R B i, FrBART PG 451845 =i 26.6°C IS
sk 1 R ES AMEKRBURRT &
3. MEAFEE TRmK R, 5= T KIRE K R BEREE 2 P
31.6°CF, SERIMEHIKRREIK S R EON

K-V _1.00577x1072N/mV x 1.4756 mV
L 212.887 x 103 m

5 26.6°C NI ER) o (EF LA BTG, FFA R K ) 2B .
M FAFFN IR N 30°C FKIRI K I RZE o AINMENT7.118 x 1072 N/m, HUAHXT IR

X 100% = 0.69%

a =6.971x 1072 N/m

5= [6.971 x 1072 — 7.118 x 1072|

7.118 x 1072 X 100% = 2.07%
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